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2 = xinoa!_g 3;3'; 2 (A) Jalg(J?L_+ ?f% %‘(B) = 2(A-8)
EXHo 14,633 14,655 -22
E44 12,553 12,773 -220
2014 12,665 12,542 123
S1IpE] 516 516 0
21X 1,772 1,595 177
Hus 4 4 0
AFOIR GRS HIAE -
HEEES 145 131 14
HeH Ki4 245,910 251,849 -5,939
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2o FH| =11 =L
B2 2 Hx2 2,415 16.50 2,546 17.37 -131
SIAEA 20 0.14 0 0.00 20
X & ExAT 12,009 82.07 11,952 81.56 57
SN 21 0.14 15 0.10 6
Il EF Xt & 168 1.15 142 0.97 26
i &= A 14,633 | 100.00 | 14,655 | 100.00 -22
ol & 5 1 12,553 85.79 12,773 | 87.16 -220
TR || 0 0.00 0 0.00 0
C
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R
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xI100] 327 H9J1 32| =21(A-B)
. (322)(A) (3712)(B)
2L | A | BESI |+ =3] =
IS 227 703 230 661 -3 42
101Xk 233 677 221 616 12 61
2.5 B 4 0 0 0 0 0 0
JTIBMY Bt 4o 15 15 0 8 15 7
4. 55259 3 10 6 156 -3 -5
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